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The historic gardens and the castle of „Augustusburg zu Brühl“ are monuments of 

international importance. Since 1984 they were included in the list of UNESCO World 

Heritage Site in the spirit of the era Rococo. The general attention of conservation based on 

the planning at the time of origin of garden in the 18. century.  

Peter Joseph Lenné replanned the wide area of the park in the south of the castle. Other 

examples are the so-called “kitchen gardens”, where the management even completely 

undone, after the residential function of the castle was abandoned. It saved cost to care for 

these vulnerable garden areas, which then fell rapidly. The 25th Anniversary of the UNESCO 

World Heritage Site in 2009 offered membership occasion for the launch of a project to 

revive the lost kitchen gardens again. The descison of the UNESCO was for a place called 

„fruit piece“. 
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���2�=3� Ansicht des Großen Gartens, im Vordergrund das Schloss Herrenhausen.  

Kolorierter Kupferstich, um 1710, gefunden am 17. 08.2010 auf http://de. 

wikipedia.org/ wiki/Schloss_Herrenhausen 
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